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1 109:02] & A7 Y500 | 8 T 72)% 56 41
2 109:09] I 5@ 03 8 F 75 % 58 % 46
3 109:11] % & 5000 8 L |* 77 53 43
4 09:12] I 5@ 9000 | 8 Fo[* 79/% 58 43
5 109:19] ¥ 3 9000 | 8 T |* 81 % 57 43
6 |09:20] I 5@ 03 8 T 67 % 56 43
7 109:28] M A Y500 | 8 e 77 52 % 44
8 [09:31 I 5@ 1000 | 8 e 83 % 58 % 45
9 109:34] K & 9000 8 b |* 77 51 43
10 109:35] & [9000| 8 T [* 83 % 57 % 45
11 09:36] ¥ 3 5000 | 8 e 76 51 % 45
12 109:39] % i@ 5000 | 8 T 76/% 58 43
13 109:44| ¥ 3 1000 | 8 T 72 % 55 44
14 |09:44| & 5® | V500 | 8 + 76 51 % 45
15 09:47| ¥ 3 9000 | 8 T|* 81 % 57 % 44
16 09:52] % i@ 5000 | 8 TR 78 50 % 45
17 1 09:57| & 4T 9000 | 8 + 76 52 % 45
18 |10:04] & & 9000 | 8 + 74 53 43
19 | 10:06| ¥ 3 9000 | 8 + 70 53 43
20 |10:10] 4 A [ 9000 | 8 T 76/% 58 43
21 |10:15| ¥ & 9000 | 8 T 76 % 56 % 44
22 110:17| 4 A [ 9000 | 8 T 74/% 57 43
23 110:19 %r & 5000 8 L |* 77 51 % 44
24 10:25| & 1T 5000 | 8 o 75 52 42
25 110:26] A& fr | ¥500| 8 e 77 /% 56 42
26 |10:28] ¥ @ 5000 | 8 b 75 53 % 44
27 110:29] % & 9000 | 8 T [* 83 % 57 43
28 |10:31] ¥ & 1000 | 8 b 69 54 % 45
29 110:32] A& 5000 | 8 + 73 /% 56 43
30 [10:34] H & | 9000 | 8 E|x 78 51 % 16
31 10:35] ¥ @ 03 8 T |x 80 * 57 % 45
32 110:38] ¥ Y500 | 8 T|* 79 57 42
33 [10:43] & @ 5000 | 8 R 77 50 % 44
34 [10:44] ¥ W 5000 | 8 T 76 % 57 % 45
35 110:46] A 5000 | 8 I 78/% 56 % 45
36 | 10:49] K & 9000 8 E|* 80 54[* 45
37 [10:58] & @ 9000 | 8 + 75 52 % 44
38 [ 11:02] % & 9000 | 8 T |* 82 % 56 % 44
39 [11:08] ¥ @ 5000 | 8 I 78/% 57 42
40 |11:11] & AT 9000 | 8 + 76 52 % 44
41 [11:13] ¥ i@ 5000 | 8 |x 78 51 43
42 |11:15] ¥ & 5000 | 8 T 76 % 58 43
43 [11:16] A 9000 ] 8 T 75 55 42
44 | 11:20] %F & Y500 8 i 76 51[* 45
45 |11:25] & 17 5000 | 8 e 78/% 56 41
46 |11:31] ¥ & 03 8 s 74 55 % 45
47 | 11:35] 4 A [ 9000 | 8 + 76 51 43
48 |11:40| ¥ & 5000 | 8 T 76 % 57 43
49 | 11:46] 4 A 9000 | 8 Fo|* 82 % 56 43
50 |11:50| %F & 5000 8 i 76 51 )% 44
51 | 11:52] & i@ 9000 | 8 TR 78 51 % 45
52 |11:55| & 4T 9000 | 8 T|* 80 % 57 43
53 | 11:56] & 1T 5000 | 8 + 74 51 42
54 | 11:58] ¥ 9000 | 8 + 71 50 % 45
55 | 11:59] & @& 5000 | 8 e 80 % 56 42
56 | 12:13] ¥ Y500 | 8 Eo|x 77 50 % 44
57 |12:14] % @ | Y500 | 8 e 79 % 56 42
58 |12:19] ¥ 03 8 T 74 % 56 42
59 |12:28] & @ 9000 | 8 + 75 51 % 44
60 |12:43] & AT 5000 | 8 b 78 51 % 45
ARG CIEROR ] 79 57 45
AR B D f KA 83 58 16
B A Gk N 76 55 44
42 P o F 77 54 44
£ 5\ O K KE 83 58 46
A B o o il 67 50 41
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1 |o09:22] 3% & 03 8 i 63 53 51 45 |* 40
2 |09:23] % i@ |5000] 8 N 7% 54 49 x 48 37
3 |09:24| A& fF 9000 8 s 62 53 50 A7 38
4 |09:25| & 7 [ 5000] 8 T 67 |* 58 |* 52 % 50 | 39
5 [09:27| ¥ E | 9000 | 8 + 66 |* 54 |% 52 % 48 % 42
6 |09:32] % i@ 03 8 &+ 63 54 % 51 45 % 41
7 109:40] A& fF | 5000 8 T 67 |* 56 50 % 50 % 41
8 |09:41| % & | 9000| 8 - 70 53 50 47 38
9 |09:44| & AT | 5000 | 8 k- 67 |* 55 [ 48 | 39
10 |09:46| 3% & | 5000 | 8 | 80 53 |% 51 16 36
L1 |09:48| ¢ & | 5000 | 8 T | 83 53 50 | 48 % 41
12 |09:49| 3% & | 9000 | 8 | 74 |% 56 | 55 47 % 40
13 |09:50| I 3@ 1000 | 8 T 66 |* 57 | 56 % 53 |% 39
14 |09:53| % @ | 5000 | 8 T % 73|% 55 50 * 48 38
15 [10:00| 3 3 | 5000 | 8 Eox 74 52 50 16 38
16 [10:02] % @ 1000 | 8 | 73|* 55 |* 56 % 49| 40
17 [10:10] % & Y500 8 T |* 86 52 19 46 % 41
18 |10:12] A& 47 | 5000 | 8 &+ 65 53 51 46 36
19 [10:14| 3 3 9000 | 8 k- 69 |* 54 50 47 38
20 [10:18] 4 & | 9000 | 8 T x 88|+ 58 |x 56 47| 44
21 [10:24] A& 4T | 5000 | 8 T 70 | 54 50 % 48 37
22 |10:27] & fF 9000 | 8 I 67 % 55 |* 54 49 % 39
23 |10:28] = W | 5000 | 8 T % 73 54 49 % 418 37
24 [10:34] HF & 9000 8 T 90 | 58 | 54 % 48 % 43
25 [10:35] ¢ & [ 5000 ] 8 R 83 52 51 45 37
26 |10:44| & W 9000 | 8 k 68 | 55 | 52 47 |x 39
27 [10:46] # & [ 5000 | 8 T |x 87 53 % 51 47 % 41
28 |10:52| & W 9000 | 8 T | 73 % 57 | 51 % 50 % 40
29 [10:54] & 47 [ 5000] 8 T |x 76 53 48 % 49 38
30 |11:00) ¥ G 9000 | 8 b 68 | 55 | 53 % 48 40
31 |11:03] & 5000 8 T |x 83 54 % 52 % 48 % 43
32 |11:06] H & 9000 | 8 E | 85 54% 54 16 37
33 [11:08] % @& | 5000 8 T |x 74 % 55 50 % 49 37
34 [11:10] & 17 9000 | 8 T 72[% 57 % 52 % 51 38
35 |11:13] % @ 9000 | 8 T % 77]* 56 | 51 % 49 38
36 |11:14] & 47 5000 | 8 e 76 53 50 45 37
37 |11:15] & & 5000 8 T x 90 52 49 46 % 42
38 |11:16] ¥ 3B | 9000 | 8 e 74 53 50 47 |x 39
39 |11:17] % i@ 03 8 T 67 |* 54 % 52 % 50 % 39
40 [11:21] = | 9000 | 8 T | 74 % 58 | 53 % 50 39
41 [11:33] % i@ 03 8 - 71 54]x 52 16| 40
42 [11:36] ¢ & [ 9000 | 8 e 82 | 54 |% 53 16 37
43 |11:36] % @& | 5000 | 8 F 72]% 55 50 % 49 )% 39
44 [11:39] = W | 5000 | 8 e 73 53 50 16 37
45 |11:43] % i@ 03 8 T 67 55 |* 52 % 49 38
46 |11:43] A& 4T | 5000 | 8 + 72 54 |% 53 16 37
47 |11:45] & 3@ | 5000 | 8 | 74 53 50 46 37
48 | 11:47| W 03 8 T 67 54 [% 51 % 51 % 40
49 [11:51] # & [ 5000| 8 e 85 52 % 52 45 38
50 [11:51| & 3 | Y500 | 8 T 70 53 49 % 19 37
51 |11:53] % @& | 9000 | 8 I 67 % 54 50 * 48 38
52 |11:54| A 47 | 9000 | 8 T 71 |* 58 | 53 % 51 % 39
53 | 11:57| % 7@ 5000 | 8 T * 75|% 57 |x 52 % 51 [ 39
54 |11:58| & 4T | 9000 | 8 k- 68 52 49 45 38
55 |12:00| % @& | 5000 | 8 & 73 53 51 46 37
56 | 12:06] K & 9000 8 E | 83| 55 | 5 % 51 % 39
57 [12:06| % 3@ | 5000 | 8 T 65 53 49 % 49 % 42
58 |12:17| ¥ im 03 8 F 73 50 49 47 37
59 |12:21| HF & 5000 | 8 Eox 84 53 51 16 36
60 |12:21] & 3@ | 5000 | 8 T |x 77 54 50 48 | 39
RSB D A 79 56 53 49 40
B O B AR 90 58 56 53 44
AR 0D f M 73 54 51 48 39
£ B H o F ) fE 74 54 51 48 39
4 H E o kK HE 90 58 56 53 14
ol N S 62 50 48 45 36
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w | M | om | W | k| % i
No. i [} s e Je 0 WE 00> & OYERE
) ol = # | i3
A (Kn/b) 12. 5m 25m 50m
1 109:03] % & 9000 | 8 i 99 41 41 % 38
2 109:06] i@ | 9000 | 8 + 103 42 42 37
3 109:10] ¥ 9000 | 8 T 105 44 % 43 % 40
4 09:16] i@ | 9000 | 8 + 99 | 44 42 37
5 109:17) ¥ 3@ | 9000 | 8 T [* 109 42/% 44 37
6 |09:18] I @ 03 8 T |*x  107]% 43 46 % 41
7109:200 ¥ 5000 | 8 b [x 108)x 43 42 36
8 09:25| I @ 5000 | 8 T | 107 40 % 43|% 40
9 09:27] ¥ | 9000 | 8 - 99 % 44 43 37
10 [09:28] 5@ | 9000 8 T 103 % 44 % 43|% 39
11 09:33] ¥ 3 03 8 + 99 42 42|% 38
12 109:34] & [ 9000 | 8 T |*  106]* 43 46 % 39
13 109:35] %F & 9000 8 Fox 107 44 % 14 36
14 09:37] % 5@ 5000 | 8 T | 106 41 41 % 38
15 09:38] ¥ 3 5000 | 8 b [x 106)x 43 42 35
16 09:41] ¥ 5@ 5000 | 8 E [x 106 42 % 43 37
17 109:41] & 1T 1000 | 8 T 106 42/% 45 % 38
18 |09:51] 4 & [ 5000 8 F |x  108)* 43 46 36
19 109:53] & & Y500 | 8 T |*  110]% 44 42 % 39
20 |09:54| ¥ i@ 5000 | 8 = 104 42 42 36
21 09:56] ¥ 3@ 5000 | 8 T [* 109 41 40 37
22 |10:01] % & | 9000 | 8 + 99 % 44 42 % 41
23 110:05] % 3@ | 9000 | 8 T [* 107 42 % 44 % 39
24 | 10:09] HFF & 9000 8 i 104 | 43 % 45 | 39
25 [10:12] 3% 5@ | 9000 | 8 T |x  108]* 43 45 % 40
26 10:13] ¥ 3@ 5000 | 8 % 109 41 43 36
27 |10:15] % & [ 9000 | 8 - 103 % 44 43 36
28 |10:16] 4 & [ 9000 | 8 T [* 107} 44 % 16 |% 39
29 10:20] % A& [ 5000] 8 + [+ 110 41 41 37
30 [10:23] ¥ | 9000 | 8 b 101 44 43 37
31 110:30] & @ 5000 | 8 + 99 % 45 41 37
32 110:31] # A& | 5000 8 T 106 41 % 43[% 41
33 [10:33] & @ 03 8 T 103 40/ 45 37
34 110:42] ¥ 5000 | 8 T [* 107 42 43]% 39
35 [10:50] r A& 9000 | 8 F x 107]x 43 44 37
36 1 10:53] ¥ | 9000 | 8 - 99 % 45 % 43 36
37 | 10:54] & 4T | 9000 | 8 T 105 % 44 % 44 % 39
38 [10:57] ¥ | 9000 | 8 T [* 107 42]% 43[% 38
39 [10:58] A& fr | 9000 | 8 = 100 43 42 38
40 [11:03] ¥ & 03 8 + 102 % 45 % 45 % 38
41 [11:06] # & [5000] 8 + 103 [ 45 41 36
42 |11:06] ¥ 3@ 5000 | 8 T [* 107 42]% 43 |% 39
43 [11:08] A& 47 9000 | 8 T 105 |* 45 42 % 38
44 |11:09] ¥ & Y500 | 8 b [x 108 42 43 38
45 |[11:12] ¥ 5@ 5000 | 8 T | 107 41 41 37
46 [ 11:21 HF & Y500 8 % 109 12 43 36
47 |[11:23] A& 17 5000 | 8 F |#  107] 44 % 43 37
48 |11:27| ¥ & 9000 | 8 T [* 109 43 % 45 % 44
49 |11:28] A& 17 5000 | 8 E x 107 43 44 37
50 [ 11:30, %F & Y500 8 T |x  107]* 14 42 |% 39
51 | 11:34] & i@ 03 8 + 102 |* 44 % 44 37
52 | 11:47| ¥ & 03 8 T 106 42/% 47 % 38
53 | 11:51] % 3@ | 9000 | 8 T 105 42 43]% 40
54 | 11:51| %F & 5000 8 i 106 12 13 35
55 | 11:53] & 41 | 9000 | 8 T |*  109[% 44 % 44 % 39
56 | 11:57| & % 5000 | 8 T [* 109 42 42 36
57 | 11:58] & 1T 5000 | 8 - 98 41 41 36
58 | 12:08] & 1T 5000 | 8 T 103 12% 43|% 41
59 | 12:13] A& fr | 9000 | 8 = 99 41 [* 44 37
60 12:28] & 4T 19000 8 b 103 42 42]% 38
SO 108 44 44 39
SR B D F KA 110 15 47 14
B CUERE S N 106 43 43 38
23| H o F 105 13 43 38
£ 5 B\ O K KE 110 45 47 44
A E o g /b fE 98 10 40 35
*
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3.1.3-8
W AR PA2IE2A3HE (K)
Kfge . I IR : 13~14°C B : 17~20%
B — 6 CRAES IR JE T SR EUE : Om/sec
i@ H RE L -L
B e i = + $ (F~uL) _
No. i fi i H 5 F Y fuE goh & O REEE
) bl X 3 il =
#l (Km/h) 12. 5m 25m 50m
I [09:01] 3@ |9000| 8 T [x 101 47 % 45 % 45
2 109:17) ¥ 3 | Y500 | 8 I 93 45 42 42
3 109:24] A 47 | Y500 | 8 s 9 44 43 -
4 109:33] & 3 03 8 k 88 44 42 -
5 109:40 % 3@ | 5000 | 8 T 96 | 47 % 45 % 47
6 09:41| £ |5000| 8 E 96 44 42 -
7 109:42) % 3@ | 9000 | 8 T | 99 % 46 % 45 % 44
8 09:45| & 4T | 9000 | 8 + 92 | 47 % 44 -
9 09:47) % 3 | 9000 | 8 L 96 | 47 % 44 -
10 109:52] # 2 |Y500]| 8 F 9 44 42 B
11 10:12) ¥ 3@ | 5000 | 8 T |[*  100)* 16 % 15 -
12 [10:20] % & |5000]| 8 + 94 | 46 % 45 B
13 110:21 ¥ 3 | 5000 | 8 T | 99 45 % 45 -
14 10:27] A& 47 | 9000 | 8 T | 98 [ 47 45 B
15 110:38] & 3 | 9000 | 8 T |[*  100)% 46 % 14 -
16 |10:42] = @ | 9000 | 8 T |* 98 [ 48 44 B
17 |10:51 & 3 | 5000 | 8 T |x 102 45 % 14 -
18 10:53] A 47 | 5000 | 8 T |* 98 | 46 43 -
19 11:00] % & 5000 | 8 T | 98 | 16 43 -
20 |[11:06] % & |5000| 8 = 95 44 42 -
21 |11:12| ¥ 3& | 5000 | 8 T | 99 | 46 % 45 -
22 [11:14] A& 1T 9000 | 8 - 97 | 47 % 45 -
23 [11:21] % A& 9000 8 s 95 | 47 % 45 | 45
24 [11:23] & AT | 9000 | 8 T |x  101]% 46 x 44 -
25 |[11:28] % 5@ | 9000 | 8 T 97 % 48 % 45 -
26 | 11:36] 4F & | 5000 8 = 99 45 43 -
27 [11:38] & 17 | 5000 8 T | 98 | 47 % 44 -
28 |11:39] & 5H | 5000| 8 + 96 45 43 -
29 [11:43] A 17 9000 | 8 I 97 45 43 -
30 | 11:51] & [ 9000 | 8 = 98 45 % 44 43
31 12:00] % & Y500 8 T |* 99 |x 46 % 45 -
32 12:01] 5 |5000| 8 +]x 99 44 43 -
33 [12:05] % & [9000| 8 T | 99 | 47 % 47 16
34 | 12:06] A & [ 9000 | 8 + %101 45 43 )% 44
35 [12:09] I & 5000 | 8 i 97 44 43 43
36 [12:12] ¥ 3® [9000] 8 F [ 1o1]= 49 46 % 46
37 [12:13] AT 9000 | 8 I 96 | 47 % 45 43
38 [12:15] # & [9000| 8 F|x 98 46 43 -
39 |12:16] I & [9000| 8 1 | 102 16 14 14
40 [12:23] & 47 |vs00| 8 F |  1o00]* 46 44 -
41 [12:24] ¥ 3® | 5000 8 i 94 16 14 -
42 [12:27| ¥ @ | 5000 | 8 T [+ 1o3]x 47 14 % 4
43 [12:28] A& 17 | 5000 8 i 97 44 43 42
44 [12:31] ¥ @ | V500 | 8 s 95 44 43 40
45 | 12:35] ¥ 3E | 9000 | 8 T 97 45 14 -
46 [12:36] % & | 5000 8 = 97 44 43 -
47 [12:39] ¥ 3E | 9000 | 8 | 100 46| 14 -
48 [12:43] & 17 | 5000 8 = 93 44 44 -
49 |12:45 Hr & 5000 | 8 T | 98 45 43 -
50 |12:46] i 3@ | 5000 | 8 s 90 45 44 42
51 |12:47| I 3§ 1000 | 8 T | 105 46 % 46
52 |12:50| ¥ @ | 5000 | 8 T 96 | 47 44 % 44
53 | 12:51| A & | 9000 | 8 k 93 | 47 % 44 -
54 |12:54| % & | 5000| 8 1 |x 106 44 42 43
55 | 12:57| % 5 | 9000 | 8 T 98 | 46 44 -
56 | 12:58| A 1T 9000 | 8 N 93 | 47 % 45 | 16
57 | 13:06| i@ | 9000 | 8 F % 102]% 47 % 45 -
58 | 13:09] A 1T 9000 | 8 T 95 45 % 44 -
59 | 13:17| I i@ 03 8 F |* 104 45 43
60 | 13:24| ¥ 3@ | 5000 8 n 94 45 % 44 42
A 5 0 S 100 17 45 15
B G N 106 49 47 47
A E 5 B D M 98 46 44 44
£ P H O F B E 98 46 44 44
XN NN 2N 106 49 47 47
A o g /b fE 88 14 42 10
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N

BEHR FR2IfE2A3H (k)
KA« EFF2TE JRE : 2~17C {BJE : 16~41%
POE— 7 CERAESLIR A b JEGE : 0~0. 9m/sec
& 3l REI L ~L
& i ) L + H (T2 L)
No. i ) @ F i ST 0 BuE O OFRREE
§ 1l fze # il i3
Z (Kn/h) 12. 5m 25m 50m
1]09:11 ] 03 8] L 88 44 39 % 38
2] 09:12 aiT 9000 8] T 82 | 50 % 43 % 38
3] 09:22 W & 03 8l I 87 44 40 36
4] 09:36 A 9000 8] L 84 | 16 40 37
5/ 09:40 & m 5000 8 T 85 | 46 % 43 % 39
6] 09:41 217 1000 8 T 82 | 49 % 46 % 10
7] 09:43 & i@ 5000 8 T 83 | 48 % 44 % 38
8| 09:45 =N 9000 8 85 | 46 41 37
9] 09:52 il Y500 3] T 83 44 41 % 39
10] 09:55 & & Y500 8] b 85 42 41 % 38
11] 09:56 e 5000 8] T 86 |* 16 % 43 % 10
12[ 09:58 W & 5000 8] T [ 90 43 40 36
13] 10:03 1 3 9000 gl L [« 92 | 45 % 42 )% 38
14] 10:12 L] 5000 8 T | 94 44 % 41 % 38
15[ 10:20 A 5000 I 89 44 39 36
16] 10:21 L] 5000 8] k[ 91 44 % 41 37
17| 10:27 AT 9000 8 F 86 | 47 % 42 % 38
18] 10:42 L] 9000 8 T 83 | 46 % 43 % 38
19] 10:45 il 5000 8] E 88 * 46 41 % 38
20| 10:53 & & 5000 EE 89 % 45 % 42 36
21]10:58 AT 5000 g 88 44 39 35
22] 11:00 ) 5000 8] T [ 96 |* 45 % 42 37
23] 11:01 L 9000 8l I [ 90 | 15 40 % 39
24] 11:05 WE @ 9000 8] T [ 91 45 % 42 % 39
25| 11:06 R 2 5000 8 I 94 43 39 35
26] 11:09 % & Y500 gl L [ 89 [* 16 % 42 % 39
27] 11:21 & 9000 8] T 88 44 % 42 % 38
28] 11:36 A 5000 8 k[ 91 43 40 36
29] 11:39 R 5000 8 b [ 90 42 38 35
30| 11:42 ] 5000 8 T | 91 43 % 41| 37
31| 11:45 L Y500 s T |* 91 43 % 41 % 40
32| 11:50 L] 5000 8 T | 95 44 41 % 38
33] 11:51 A 9000 8l k[ 95 44 39 37
34| 11:53 & 1T 9000 8 T | 91 |* 47 % 43 % 39
35] 11:57 & &@ 5000 s| T [* 91 44 % 41 37
36/ 12:00 kA 9000 8| T | 90 % 45 41 37
37| 12:12 ] 5000 8] T | 89 | 47 % 43 % 38
38] 12:13 EXG 5000 gl L [ 89 [* 47 41 % 38
39| 12:16 ] 5000 8] L 87 44 39 37
40| 12:17 ] 03 8 T 85 | 48 % 44 37
41]12:21 R 5000 8] T 87 |x 16 % 43 37
42] 12:24 L] 5000 8] k 85 | 46 40| 36
43] 12:27 g 5000 s T |* 90 43 % 41 37
44| 12:30 L] 5000 8 k 89 44 41 37
45] 12:35 & @ 9000 8] T 386 44 % 43 )% 38
46| 12:39 & & 9000 I 91 |* 16 40 % 38
47]12:42 il 9000 8] T 88 44 % 42 37
48] 12:43 & 1T 5000 I 93 41 38 36
49]12:45 i 5000 8| b 89 43 40 % 38
50] 12:47 W @ 03 8] T 87 |* 47 % 44 % 10
51| 12:50 & 3 5000 8] T 89 44 41 37
52| 12:51 ) 9000 gl L 85 |* 45 41 36
53| 12:59 G 9000 8] b 89 | 47 % 42 % 38
54| 13:00 e 5000 8 T | 95 % 46 40 % 38
55| 13:01 ] 9000 8] b [ 93 | 45 39 37
56| 13:05 L] 9000 8 T 84 |* 7 % 44 % 38
57| 13:13 A 1T 5000 N 92 42 39 37
58] 13:17 g 03 8 T 88 |* 46 % 42 37
59| 13:21 R 2 9000 8 bk |* 92 45 % 42 % 39
60] 13:24 ] 5000 8l I [« 97 43 38 35
A 0 S fiE 92 16 43 39
AR O B E 97 50 46 | 40
AR e CIE ) = N X 89 45 41 38
ENIECE R R 89 45 41 38
5 E o kK fE 97 50 16 10
2 5 # o &K fE 82 41 38 35
*
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3.1.3-10

N

BIEHMR FRrke2fETH5H (H)
KE : 20 W4 /NFY BE : 24~31°C  18JF : 54~91%
ol — 8 (HAEH AL J : JbpE JRGEE : 0.9~1. 8m/sec
S 51 WEFL v
w | M| E | E L e )
No | i [ i BV BBt GRHFR) 225 DRk
. il = # Gl JE
Al Gn/b) | 6.25m 12. 5m 25m 50m
1109:54] & i@ 5000 8 T 84 [* 46]* 43] - -
2/09:57] I @ 9000 s T |x 99 * 46]* 44 )% 43| -
3/ 10:01] I 3@ 5000 s T |x 88 43 43 41 36
4/10:07) FF A& 5000 8 T |x 91 43 42 39 34
5/10:09 ¥ 0 9000 8 k 82]% 47|% 45 |* 41 % 37
6/10:11 ¥ 9000 8 T 82|% 46 42 41 % 40
7010:24] ¥ 3# 9000 8 F |x 90 | 47 | 46| 45 [ 42
8/10:26] ¥ & 5000 8 T 86 43 42 11 36
9l11:15] % & 9000 8 T |x 89| 45 | 44 [ 11 % 37
10[11:16] % & 5000 8 I 85 44 [x 44 [x 12 36
11]11:22) % & 5000 8 I |x 88 46 % 45]% 44x 38
12/11:36] % & 5000 8 b 86 |* 45 43 |* 44 36
13[11:47] ¥ & 03 8 T 83[* 45 42 39 36
14]12:06] & 5000 8 E |x 93 44 42 42 36
15/ 12:08] & 17 5000 8 I |x 91 43 42 39 36
A 9000 8 T |x 88 44 42 40 [% 38
] 03 8 T 81 |* 45 41 40 36
2T 9000 8 T 82|% 15 41 38 % 38
G 5000 8 I 87 |* 45 | 44 [x 12 36
Rt 1000 8 T |* 92 44 [x 43 41 -
2 17 9000 8 T 83 43 42 40[* 38
@ 9000 sk 80* 47 % 44 41 36
a1 9000 8§ T 83 44 42 39 38
a1 5000 8 82 44 % 44 % 43 % 37
Lo Y500 8 F |* 92 43 42 40| -
il 03 8 F 83 | 16 42 39 |x 38
Lo 5000 8 F |x 98* 47 % 45 |* 43 )% 37
] 9000 8 F |x 93]% 48 46 % 45| 38
& 38 5000 8 I 71 44 % 43 38 32
217 5000 8 I 86 44 % 43 41 % 38
W 5000 8 T 86 44 42 41 35
@ 5000 8 T |* 91 43 42, 39 36
A 9000 § T |* 88| 46 | 45 41 % 40
i} 03 s k 85 % 48 |* 47 |* 42 )% 38
& @ 5000 8 & |* 88 42 41 38 -
L] 5000 8 k| 94 |* 46 | 43|% 13 36
2T 9000 8 Lk 83 |* 48 | 44 % 43 % 37
] Y500 8 F |x 88 44 42 43 36
P 5000 8 I [ 94 % 46 % 43]% 42|% 38
& 3 1000 8 L 81 | 45 | 44 | 4] -
a1r 5000 8 T |* 88 44 43 40 36
i 9000 sk 83]* 46 % 45 | 41 36
B A 9000 8 T |* 90 44 42 40[* 38
A 1T Y500 8 I |* 94 43 42 38 35
21T 5000 8 Lk |x 88 |* 16 | 44 % 41 % 37
Lo 5000 8 F |¢ 89 42 |% 43 10 % 38
] 03 8 k |x 94 44 | 44| 42 |% 39
] 5000 8 F |x 88 15 12 40 36
R 2 5000 I 90 44 12|% 43 34
& 3@ 5000 8 b |x 90 45 12|% 42, 36
51 15:27] % @ 5000 8 T 85 44 43 40 36
52]15:28] & 17 5000 8 b [x 90| 46 ] 44 % 42 35
53| 15:34] % & 03 8 k 85| 45 | 45| 43]% 39
54| 15:39| & 17 9000 8 F 81 44 42 10| -
55|15:39] & i Y500 8 Lk |x 91 |* 16 43|% 12 36
56| 15:52| H & 9000 8 k 85 |* 46 |* 44 | 12 % 39
5716:16| & ¥ 9000 8 Lk 84 |* 46|* 45 % 42 |% 37
58]16:24] & 4T 9000 8 T 82 44 42 40 [* 38
59]16:28] & @ 5000 8 T 80 43 41 40[* 37
60]16:43] & 17 5000 8 b 79[ 46 % 44 40 34
ALY FO TR E 91 16 44 43 38
B HL o F KA 99 48 7 45 42
AL S o e/ ME 88 45 43 41 37
2 ¥ H o ¥ E 87 45 43 11 37
EXIENE PN 99 48 47 45 42
ENIENE - NN 71 42 41 38 32
*
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N

3.1.3-11(1)

P A Bs FRR2IFLA2TH (k)
K BhoObLRY RE  2~11C B @ 37~47%
PHE—9 CHABSAER JAG : db, PR EGEE : 0.3~1. 4m/sec
& 51 REIL~V
w | H | m || b = ) ,,
No. | &) F b BHFOETO GRHER) 5ok
. il =X e ol FE
Z (Km/h) 14. 5m 25m 50m
1 09:00] % 3@ 9000 | 8 T 61 50 45 41
2 109:02] % & [9000| 8 INE 74 % 54 | 51 41
3 09:10] % @ 03 8 T 63[* 52 45 41
4 109:13| MAEYRFE | Y500 8 + % 73 50 | 48 41
5 109:28] ¥ 3@ | 9000 | 8 TE 71 % 52 |* 51 % 42
6 |09:35| & | 5000 | 8 Foox 74 50 | 46 % 42
7 109:36| HF & | 5000 | 8 k 70 % 54 | 50 * 42
8 109:37| ¥ 5000 | 8 T 66 % 51 46 41
9 109:43| % Y500 | 8 T 70 % 51 16 41
10 [09:45] & 17 5000 | 8 B 70 50 % 49 12
11 [09:53] % 3@ 9000 | 8 T 62 50 45 41
12 [09:57] % @ 1000 | 8 T 60 50 46 41
13 [09:59] A& 17 [9000] 8 e 73)% 53 % 49 [* 42
14 [10:01| ¥ i@ |V500| 8 e 74 % 53 % 48 % 42
15 |10:06| 4 & | 5000 | 8 TSE 84| 54 % 49 43
16 [10:12| ¥ G | 9000 | 8 T 65 51 44 41
17 10:13] & 17 5000 | 8 k 71 50 % 47 41
18 [10:15] ¥ 3@ 5000 | 8 e 72|% 51 % 48 41
19 [10:28] & 17 5000 | 8 1 63 48 45 41
20 110:36] Hr A& | vs00| 8 b [x 77 % 53]% 49 * 42
21 [10:39 W @ | Y500 | 8 I 68 49 46 41
22 |10:40] & & 03 8 T 71 50 45 41
23 110:43] & 47 | 9000 | 8 + 69 52 % 49 % 13
24 | 10:45| HrF & 9000 | 8 o= 72 50 45 * 42
25 |10:51| 4 & 9000 | 8 B 86 % 55|% 49 * 43
26 |10:59| & 1T 5000 | 8 N 75)% 52|% 49 * 43
27 |11:04] 3% 3@ 03 8 = 62 49| 47 % 44
28 |11:05] % & 5000 | 8 T 71 50 44 41
29 |11:07 B & | 5000 8 b ]x 85| 54 % 48 43
30 |11:10] % 3@ | Y500 | 8 - 67 48] 46 42
3L | 1l:12] & GF | 9000 | 8 F 65 50 43 10
32 |11:20] ¥ i@ 5000 | 8 F 68| 51 45 41
33 |11:22] K & 5000 | 8 B 79|% 53|% 48 % 45
34 |11:28] & 1T 5000 | 8 1S 68 49 % 46 * 42
35 |11:29] Hr & | Y500 | 8 T | 77 51 46 % 44
36 |11:35] % i@ 03 8 B 70]% 53)% 48 43
7 11:38] A& 17 5000 | 8 T | 74 50 44 % 42
38 [11:39] # & | VY500 | 8 T 71| 52 % 46 42
39 | 11:42] i 9000 | 8 e 73 19 44 41
40 [11:44) & AT 5000 8 Fox 75 % 52| 50 % 43
41 |11:45| % & | Y500 | 8 ol 79 50 16 * 14
42 |11:50| & @ 5000 | 8 T 61[* 51 44 41
43 |11:52] H & | 5000 | 8 e 77 % 52]% 48 % 43
44 |11:53] & 47 | 9000 | 8 T 65 50 44 40
45 |11:59] A& 47 | 9000 | 8 b [x 74 % 51[% 47 42
46 |11:59] #r A& | vs00| 8 e 78 51 46 45
47 [12:04] ¥ E 03 8 i 69 * 52 |* 17 41
48 |12:07] # A 5000 | 8 e 82 % 56 % 48 * 12
49 [12:13| & AT Y500 8 ko 72 50| 47 % 43
50 |12:15] AF & | 9000 | 8 o 74 % 52|% 47 [* 16
51 |12:17| & @ 5000 | 8 T |x 74 50 45 41
52 [12:22 E 2 [ 9000 8 b [x 76 )% 53)% 47 % 43
53 112:29] Hr & | Y500 | 8 T | 75 51 45 % 43
54 [12:35| % @ 5000 8 T 67 % 51 44 41
55 |12:38] 4 47 | 9000 | 8 T 63 51 44 40
56 | 12:47| ¥ @ | 9000 | 8 F 71 50 45 41
57 |12:51| ¥ i@ 9000 8 F 63 50 13 40
58 |12:57| i i@ 5000 8 T 71 50 44 42
59 |13:00] # & | 5000 | 8 T |x 77 )% 51 46 % 44
60 113:06] % i@ Y500 | 8 T Ix 74 50 44 41
A B o 76 52 48 43
AR e CIEAPI N 86 56 51 46
AL B D d I ME 7L 51 46 42
2 5 o Y E 71 51 46 42
E NN SN} 86 56 51 16
2 H o &R 60 48 43 10
*
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3.1.3-11(2)

HE AR SPRR2IFELH2TH OK)
Kt HEhobLE0 B : 2~11C  JBEE : 37~47%
$E—9 (Bl ETH) B : b, IR JEUE ;0. 3~1. 4m/sec
i | REL~r
B [ il H H (53 ~L)
No. i ] H D uE O GHERD 26 OFREE
; il = # B
% (Km/h) 14. 5m 25m 50m
1 ]09:23 [5] 3% 9000 6 - 46 |* 44 42
2 109:53] [ % 2000 | 6 - % 48]* 43 -
3 |09:54] I 6000 | 6 - % 47]% 41 -
4 [10:44] [A] 3% 6000 | 6 - % 46]* 41 35
5 [11:00] |m1 6000 | 6 - 15 41 34
6 | 11:34] [A] % 9000 | 6 - 44 41 -
7 [rtar| A % 9000 | 6 - 46 40 37
8 |11:47 [F] 3% 3000 6 - 46 % 42 36
9 |11:52] [A] 3% 9000 | 6 - |x 47 40 -
10 |1l:54| |9 3% 9000 6 - 46 |* 46 43
11 12:03 [A] % 2000 6 - 46 | 46 42
12 [12:20] |1 6000 | 6 - 46 40 -
13 [12:56] [A1 % 6000 | 6 - 46 40 35
14 [13:00] |1 6000 | 6 - = 47]% 42 36
15 [13:11] [A1 #% 5000 | 6 - % 47 40 -
16 [13:39] o1 % 6000 | 6 - = 16 41 34
17 [14:18] [ # 3000 | 6 - 45 40 -
18 [14:32] A1 % 2000 | 6 - |x 49 43 -
19 [15:08] [°1 6000 | 6 - |x 46]* 41 -
20 [15:23| [H] 3% 9000 | 6 - % 48 40 38
AL EHG HE O SEEE - 47 43 40
AR O 5K E - 49 46 43
A B o Fe /) MiE - 46 41 36
A A o S ¥ fE - 46 42 38
EY NN N - 49 46 43
4 B HE o &K - 44 40 34
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(€))

VL=K, + K. —Alog,,(X/X,)-Blog,,(Y/Y,)+Clog,,(Z/Z,)

Y Z
(km/h)

)

L ( ) K,
) K
(m) (t/m)
Xo Yy Z, X Y Z
3.1.3-12
3.1.3-12 X, Y, Z,
XO YO ZO
3 40
5 w0 |
15 20
A
C
3.1.3-13
B
B 24

3.1.3-30

)



3.1.3-13

(m)
((9)
N 7.2 77.8
N 25.2 57.7
No. 18.4 62.3
No. 4.3 56.3
N 2.2 67.0
No. 10.0 113.9
NoO. 0.7 42.9
N 11.9 58.8
No. 17.1 58.8
No. 6.1 46.3
No. 13.9 50.4
N 17.5 23.7
No. 10.3 23.7
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3.1.3-14 3.1.3-15
-No.1
3.1.3-14
3.1.3-15
A 13
3.1.3-14 A
A
No.1 12.1
No.1 7.8
No.1 -
No.2 15.8
No.3 11.2
No.4 12.7
No.5 11.0
No.2 18.1
No.3 16.5
No.4 12.1
No.5 10.2
No.2 22.2
No.3 8.5
3.1.3-15 A
A

12.6

15.4

13.4

12.9

12.9

13.0
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3.1.3-16

Ko

K, =VL'-K. + Alog,,(X / X,)+Blog,,(Y /Y,)-Clog,,(Z/Z,)

&)

VL' (
K, 3.1.3-17
Ko
No.3 Ko
3.1.3-17 K,

Ko
No.1 (65)
No.1 (51)
No.1 47
No.2 62.8
No.3 74.4
No.4 63.8
No.5 64.1
No.2 54.5
No.3 57.6
No.4 49.3
No.5 54.6
No.2 46.0
No.3 53.8

K0

3.1.3-33

()



3.1.3-17 K,

3.1.3-18
3.1.3-18 K,
66.3 5.4
54.0 3.4
50.0 5.6
(b)
(a
@) @ 3.1.3-19 3.1.3-20
KO
K 48
(@}
VL = 66 + Kc — Alog,, (X /3) - 24log,, (Y/40)+ 20log,,(Z/40)
O
VL =54+ Kc — Alog,, (X /15) - 24log,,(Y /50)+ 20l0g,, (2 /40)
O
VL = 48 + Kc — Alog,, (X /15) - 24log,, (Y/50)+ 20log,, (Z/40)
O

VL =50+ Kc — Alog,, (X /15)— 24log,, (Y/20)+ 20log,,(Z/40)

VL : ( )
(m)

Y (t/m)

Z (km/h)

3.1.3-34

4)

®)

(6)

Q)



3.1.3-19 K,

KC
0
-5
-11
¥ -13
3.1.3-20 A
A
13
13

3.1.3-35




3.1.3-21

6.25 12.5 25.0  50.0
14.5 25.0  50.0
No. ( )
No. ( )
No. ( )
No. ( )
No. ( )
(a)
L = Alog,,(V)+Blog,(r)+c
L
V km/h
r
A B C
3.1.3-22
L, =29.5+13.5lo0g,,(V) -10.4l0g,,(r) 0.882
L, =19.9+24.5log,,(V)—14.0log,,(r) 0.947
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(b)

26.6

3.1.3-4

3.1.3-5

(dB

80

70

60

50

40

30

3.1.3-4

(dB

80

70

60

50

40

30

3.1.3-5
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